N A Le bﬁv S O @

sSp ‘09
FE AT P
P}“» c’))@\’v‘{ Set I SU(\\'}’]D‘/\
IR _
fr’b(())%\’\’l (S /\; = 3""”’]’ N

I,’}'
he = 0.06/C3+0/2);) "= 0324, e ® C’%hg = 12,3 cwn
_ 3 — -
V)j et = lixy x /O e ? o (r2( x25'7 ~ f‘fj (O =2 IQ: Segv
- 5 < j t e -
Ug = 2 8x(07 ewals . [y 2d?2 = c. = 55 l// &;:z&év

F»rj 3./€ = V K@( nj = 8’.?*“)‘6 S“‘

e

— /2
F v o™ (1/,2,33@/ Soew © P32 '/, W /g™
Foow (1623945, 3 = o025 )  W/wm*

strc

(UL ((()Z'E?X
> 'y 0,83V,
2p0d = (01/32\/( .(_O,lgl/‘)(( + y
7 8-

=) V( = Q72 V, Vg ¢34 (/) 5{- = 2,83V, = é78(/
v o CH:ZB?)/ Ns = 2.7 WD?c\M”B// Ne = F0 le? cw:j

qwca :r/. = O./E \N)A /C\t‘n%" Feown /Hizlu;)) Sen = L5 <r

Freown ((h2.20, I, = 7& waf /e

Prbélem ((lé (G'\J C:,ca‘z:.’\:«;.f;‘ SM =( cm s o OL’;()‘on

— -3

A‘f Jo \M‘T—Qf‘f) /\Z @/(C“"'\ = {O‘ o
g = 0/(3(; then eee T 9,308 e

20 -2
Thaaw Vg dees = 3,05 ¥X|O '~

?Tom (:‘(j (0‘/) f”; = 2 4

— — 3
Feom Py 317, S. = 5% V, ug = 2.2%0" wis



&

(b) l/( = Yoo V . d \—/_—‘0,72% = 32

4
<o 2 5;+£¢+£C = 3(2+2.27T, +58 = 282 |/
24 7z

o = 7x/0 s

(:(j’ 3446 = Vo, = < efas n3 = D w&’i(
— .
(11,233 = S, = 0,336V Yo K73 W/

((('1'59) = —g—s_}_bc = O.IS&[/I = 84,3 W/"“);

(0236 = |5 = aeuUs- 230 s
€

_ 15 _3 /
Ns = 220 %10 7% 1 2 2nyy = 49510 75!

(C> ? = 3(2\ l/ as fvw(.b>- @ o (”)7-:5‘/) w T o

9.788 Alw®, we Fracl

d{- = eﬁ_ =

-3 -
Sen = 2.2 %I w7, 1 vean Lsin g (”/&'57)}
ZC’C = ZZ:( (/

(4) Done wn (<)

(ed ECoen (ll,Z.373) ths = LD W/W)’L

(‘F) eawm ({/,1, §§>) ;]"' = 43,9 A /m'z.



&

P(‘b cle

T ——— e
fory Ceam (03.25) Cp - (EDOESEAON
a T O Ay rA » - I o

e

Q-0 f

Co = (4195 pF //
, 2
Use Pm&;g = ji@b iw{ +s  frad Rb

_ Ca)ré>) 4
@\) - .—-—-—Z-;-s- = L{»% - /
(&) 12 vewm Cri. B.r0)

())‘

[CeRicsey - 4ig™]

= 3. 2 //

Ly = A/ @ = (o7 M o

X
X
T

(
[ £5.2%)06 /%95 NO'BJ

£ o Cr1.8a1) )
! L -2
C IV (ﬁu ) @.?‘j A S Z

CM: EM,«/{A)

Son. /

RF Me:fc\mwj ] D(Sckmvje_,
gowvers ) Petws rK \



